BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE JUBILEE SECTION 10 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477
CITY OF HOUSTON, HARRIS COUNTY, TEXAS
MARCH 26, 2025
LIA ENGINEERING, INC.
E. MURPHY
MARCH 27, 2025
2542-2492 (9.2)

	BIDDER NAME	BASE BID
1) R CONSTRUCTION CIVIL, LL	С	\$1,673,640.85
2) ICON GC LLC		\$1,864,250.00
3) DACO PAVING, INC.		\$1,878,000.00
4) D&J CONSTRUCTION, INC		\$1,937,095.00
5) PRECISE SERVICES INC.		\$1,952,259.65
6) ELITE CONSTRUCTION AND	ENGINEERING SERVICES, LLC	\$1,990,000.00
7) RESHA CORPORATION		\$2,206,180.75

CALENDAR DAYS - 85/100



I, Kyle T. Kraus, PE, hereby certify these bid tabulations to be true and correct.

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477 CITY OF HOUSTON, HARRIS COUNTY, TEXAS MARCH 26, 2025 LJA ENGINEERING, INC. E. MURPHY MARCH 27, 2025

2542-2492 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

				1) R CONSTRUC	CTION CIVIL, LLC	2) ICO	N GC LLC	3) DACO P	PAVING, INC.	4) D&J CONSTRUCTION, INC	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	ITEMS - HCMUD NO. 477 ROADWAY AND LOT EXCAVATION, INCLUDES STRIPPING, STOCKPILING AND RE-APPLICATION OF STRIPPINGS TO APPLICABLE AREAS, COMPLETE IN PLACE	СУ	2799	\$1.75	\$4,898.25	\$5.00	\$13,995.00	\$5.00	\$13,995.00	\$3.00	\$8,397.00
2	. ROADWAY AND LOT EXCAVATION TO BE USED FOR FILL TO FINAL GRADE WITHIN THE PROJECT LIMITS, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	2799	\$1.75	\$4,898.25	\$1.00	\$2,799.00	\$2.00	\$5,598.00	\$3.00	\$8,397.00
3	. 6" REINFORCED CONCRETE PAVEMENT, MINIMUM 3,000 PSI COMPRESSIVE STRENGTH, COMPLETE IN PLACE	SY	9930	\$44.00	\$436,920.00	\$50.00	\$496,500.00	\$51.00	\$506,430.00	\$52.00	\$516,360.00
4	. 6" LIME/FLY ASH STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	11287	\$3.90	\$44,019.30	\$4.00	\$45,148.00	\$3.75	\$42,326.25	\$4.00	\$45,148.00
5	. HYDRATED LIME FOR 6" STABILIZED SUBGRADE PREPARATION, 3% BY DRY WEIGHT, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	91	\$345.00	\$31,395.00	\$389.00	\$35,399.00	\$355.00	\$32,305.00	\$400.00	\$36,400.00
6	FLY ASH FOR 6" STABILIZED SUBGRADE PREPARATION, 7% BY DRY WEIGHT, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	213	\$145.00	\$30,885.00	\$138.00	\$29,394.00	\$140.00	\$29,820.00	\$145.00	\$30,885.00
7	. 4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	5332	\$3.75	\$19,995.00	\$5.00	\$26,660.00	\$4.50	\$23,994.00	\$4.00	\$21,328.00
8	6. 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	833	\$3.75	\$3,123.75	\$4.00	\$3,332.00	\$4.50	\$3,748.50	\$4.00	\$3,332.00
g	I. NON-STANDARD TYPE 7 WHEELCHAIR RAMPS, AS PER EXHIBIT "A", INCLUDES BRICK PAVERS, KEYSTONE CITYSCAPES ADA 4"X8" 60MM THICK ADA-COMPLIANT TRUNCATED DOMES, (CHARCOAL COLOR AS DETERMINED BY DEVELOPER), COMPLETE IN PLACE	EA	10	\$1,800.00	\$18,000.00	\$2,142.00	\$21,420.00	\$150.00	\$1,500.00	\$2,000.00	\$20,000.00
10	. 4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE	EA	9	\$15.00	\$135.00	\$18.00	\$162.00	\$18.00	\$162.00	\$15.00	\$135.00
11	. 6" PVC IRRIGATION SLEEVE, SCHEDULE 40, PER PLANS, COMPLETE IN PLACE	LF	210	\$27.00	\$5,670.00	\$19.00	\$3,990.00	\$50.00	\$10,500.00	\$35.00	\$7,350.00
SUBTO	TAL PAVING ITEMS - HCMUD NO. 477			<u>-</u>	\$599,939.55	=	\$678,799.00	-	\$670,378.75		\$697,732.00
	S ITEMS - HCMUD NO. 478 ROADWAY AND LOT EXCAVATION, INCLUDES STRIPPING, STOCKPILING AND RE-APPLICATION OF STRIPPINGS TO APPLICABLE AREAS, COMPLETE IN PLACE	СУ	3841	\$1.70	\$6,529.70	\$5.00	\$19,205.00	\$5.00	\$19,205.00	\$3.00	\$11,523.00
2	ROADWAY AND LOT EXCAVATION TO BE USED FOR FILL TO FINAL GRADE WITHIN THE PROJECT LIMITS, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	3841	\$1.70	\$6,529.70	\$1.00	\$3,841.00	\$2.00	\$7,682.00	\$3.00	\$11,523.00
3	. 7" REINFORCED CONCRETE PAVEMENT, MINIMUM 3,000 PSI COMPRESSIVE STRENGTH, COMPLETE IN PLACE	SY	8957	\$51.00	\$456,807.00	\$57.00	\$510,549.00	\$54.00	\$483,678.00	\$57.00	\$510,549.00
4	. 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	5805	\$45.00	\$261,225.00	\$50.00	\$290,250.00	\$51.00	\$296,055.00	\$52.00	\$301,860.00

FRN F-1386 LJA Engineering, Inc.

| CITY OF HOUSTC
| BID OPENING DATE: | MARCH 26, 2025
| BID OPENING LOCATION: | LIA ENGINEERIN
| TABULATION BY: | E. MURPHY
| TABULATION DATE: | MARCH 27, 2025
| LIA JOB NO. | 2542-2492 (9.2)

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477
CITY OF HOUSTON, HARRIS COUNTY, TEXAS
MARCH 26, 2025
LIA ENGINEERING, INC.
E. MURPHY
MARCH 27, 2025

				1) R CONSTRUC	CTION CIVIL, LLC	2) ICON GC LLC		3) DACO PAVING, INC.		4) D&J CONSTRUCTION, INC	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	8" LIME/FLY ASH STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	9779	\$3.85	\$37,649.15	\$5.00	\$48,895.00	\$4.00	\$39,116.00	\$4.00	\$39,116.00
	6" LIME/FLY ASH STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	6565	\$3.75	\$24,618.75	\$4.00	\$26,260.00	\$3.75	\$24,618.75	\$4.00	\$26,260.00
	HYDRATED LIME FOR STABILIZED SUBGRADE PREPARATION, 3% BY DRY WEIGHT, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	159	\$345.00	\$54,855.00	\$389.00	\$61,851.00	\$355.00	\$56,445.00	\$400.00	\$63,600.00
	FLY ASH FOR STABILIZED SUBGRADE PREPARATION, 7% BY DRY WEIGHT, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	371	\$145.00	\$53,795.00	\$138.00	\$51,198.00	\$140.00	\$51,940.00	\$145.00	\$53,795.00
9.	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	7096	\$3.75	\$26,610.00	\$4.00	\$28,384.00	\$4.50	\$31,932.00	\$4.00	\$28,384.00
	NON-STANDARD MODIFIED TYPE 7 WHEELCHAIR RAMPS, 6' WIDE B-B, AS PER EXHIBIT "A", INCLUDES MODIFIED 6' WIDE LANDING, INCLUDES BRICK PAVERS, KEYSTONE CITYSCAPES ADA 4"X8" 60MM THICK ADA-COMPLIANT TRUNCATED DOMES, (FEDERAL YELLOW COLOR AS DETERMINED BY DEVELOPER), COMPLETE IN PLACE	EA	8	\$1,700.00	\$13,600.00	\$2,327.00	\$18,616.00	\$2,800.00	\$22,400.00	\$2,500.00	\$20,000.00
	NON-STANDARD MODIFIED TYPE 7 WHEELCHAIR RAMPS, 8' WIDE B-B, AS PER EXHIBIT "A", INCLUDES MODIFIED 8' WIDE LANDING, INCLUDES BRICK PAVERS, KEYSTONE CITYSCAPES ADA 4"X8" 60MM THICK ADA-COMPLIANT TRUNCATED DOMES, (FEDERAL YELLOW COLOR AS DETERMINED BY DEVELOPER), COMPLETE IN PLACE	EA	4	\$1,700.00	\$6,800.00	\$3,155.00	\$12,620.00	\$3,300.00	\$13,200.00	\$3,000.00	\$12,000.00
12.	TYPE III BARRICADE, COMPLETE IN PLACE	EA	6	\$1,350.00	\$8,100.00	\$150.00	\$900.00	\$1,500.00	\$9,000.00	\$1,700.00	\$10,200.00
	REMOVE AND OFFSITE DISPOSAL OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$25.00	\$25.00	\$1.00	\$1.00	\$200.00	\$200.00
14.	REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE	LF	194	\$21.00	\$4,074.00	\$8.00	\$1,552.00	\$16.00	\$3,104.00	\$20.00	\$3,880.00
	4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE	EA	5	\$15.00	\$75.00	\$18.00	\$90.00	\$18.00	\$90.00	\$15.00	\$75.00
16.	6" PVC IRRIGATION SLEEVE, SCHEDULE 40, PER PLANS, COMPLETE IN PLACE	LF	638	\$26.00	\$16,588.00	\$19.00	\$12,122.00	\$50.00	\$31,900.00	\$35.00	\$22,330.00
SUBTOTA	AL PAVING ITEMS - HCMUD NO. 478			_	\$977,857.30	-	\$1,086,358.00	_	\$1,090,366.75	_	\$1,115,295.00
1.	ANEOUS ITEMS EXTRA 4" STRIPING, ALL COLORS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$2.00	\$200.00	\$1.25	\$125.00	\$10.00	\$1,000.00
	EXTRA RAISED PAVEMENT MARKER, ALL COLORS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	50	\$8.00	\$400.00	\$7.00	\$350.00	\$9.00	\$450.00	\$8.00	\$400.00
	EXTRA CEMENT STABILIZED SAND BACKFILL, (2 SACKS PER CY), (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	CY	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$50.00	\$5,000.00
	EXTRA STREET AND TRAFFIC SIGNS, DETAILS AS PER EXHIBIT "A", INCLUDES NON-STANDARD SIGNAGE AND POLES, ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, AND TRAFFIC SIGNS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LS	1	\$975.00	\$975.00	\$750.00	\$750.00	\$975.00	\$975.00	\$1,200.00	\$1,200.00

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477 CITY OF HOUSTON, HARRIS COUNTY, TEXAS MARCH 26, 2025 LIA ENGINEERING, INC. E. MURPHY MARCH 27, 2025 2542-2492 (9.2)

			1) R CONSTRUCTION CIVIL, LLC		2) ICON GC LLC		3) DACO PAVING, INC.		4) D&J CONSTRUCTION, INC	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
5. BROADCAST SEEDING, INCLUDES FERTILIZING AND WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE		18	\$650.00	\$11,700.00	\$650.00	\$11,700.00	\$650.00	\$11,700.00	\$900.00	\$16,200.00
 HYDROMULCH SEEDING AND FINE GRADING, INCLUDES WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE 	AC	9	\$1,000.00	\$9,000.00	\$1,000.00	\$9,000.00	\$1,000.00	\$9,000.00	\$2,500.00	\$22,500.00
 INSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, AND REGRADE AREA TO MATCH FINISHED GRADE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE 	LS	1	\$1,500.00	\$1,500.00	\$150.00	\$150.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00
 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, INCLUDES GENERAL SOURCE CONTROLS, STREET SWEEPING, CONCRETE WASHOUT, AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE 	LS	1	\$1,200.00	\$1,200.00	\$2,500.00	\$2,500.00	\$11,800.00	\$11,800.00	\$1,000.00	\$1,000.00
EXTRA REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	100	\$2.00	\$200.00	\$4.00	\$400.00	\$2.00	\$200.00	\$2.50	\$250.00
 EXTRA INLET PROTECTION BARRIER FOR STAGE I INLET, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE 	EA	1	\$50.00	\$50.00	\$25.00	\$25.00	\$175.00	\$175.00	\$100.00	\$100.00
11. PERMANENT TRAFFIC CONTROL DEVICES, DETAILS AS PER EXHIBIT "A", INCLUDES NON-STANDARD SIGNAGE AND POLES, ALL TRAFFIC BUTTONS, WHITE CONTINENTAL STRIPING AT ONE LOCATION, PAVEMENT STRIPING, STREET SIGNS, AND TRAFFIC SIGNS, COMPLETE IN PLACE	LS	1	\$29,500.00	\$29,500.00	\$23,740.00	\$23,740.00	\$31,411.50	\$31,411.50	\$36,000.00	\$36,000.00
12. TEMPORARY TRAFFIC CONTROL DEVICES AS NEEDED FOR THE DURATION OF THE PROJECT, (FLAGGERS, CONES, ETC.), PER TMUTCD, INCLUDES INSTALLATION, MAINTENANCE, AND REMOVAL, COMPLETE IN PLACE	LS	1	\$1.00	\$1.00	\$4,255.00	\$4,255.00	\$500.00	\$500.00	\$2,500.00	\$2,500.00
13. SURFACE WATER CONTROL AND PUMPING, INCLUDES ALL PUMPING TO COMPLETE PROJECT, COMPLETE IN PLACE	LS	1	\$2,300.00	\$2,300.00	\$1,999.00	\$1,999.00	\$500.00	\$500.00	\$5,000.00	\$5,000.00
14. FINAL LOT GRADING, COMPLETE IN PLACE	LS	1	\$19,000.00	\$19,000.00	\$24,106.00	\$24,106.00	\$28,000.00	\$28,000.00	\$12,000.00	\$12,000.00
15. CONSTRUCTION STAKING FOR PAVING CONSTRUCTION BY THE CONTRACTOR PER KYLE KACAL, GBI SURVEYING, CONTACT 281-499-4539 FOR PRICING, COMPLETE IN PLACE	LS	1	\$10,418.00	\$10,418.00	\$10,418.00	\$10,418.00	\$10,918.00	\$10,918.00	\$10,418.00	\$10,418.00
16. AS BUILT SURVEY OF ALL PAVEMENT HIGH POINTS, LOW POINTS AND LOT CORNERS (98 LOTS TOTAL), AS PERFORMED BY KYLE KACAL, GBI SURVEYING, CONTACT 281-499-4539 FOR PRICING, INCLUDES AN EXHIBIT CERTIFIED BY A REGISTERED PROFESSIONAL LAND SURVEYOR IN THE STATE OF TEXAS, AS WELL AS AN AUTOCAD FILE OF SURVEY, COMPLETE IN PLACE	LS	1	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$8,000.00	\$8,000.00	\$7,500.00	\$7,500.00
SUBTOTAL MISCELLANEOUS ITEMS			_	\$95,844.00	_	\$99,093.00		\$117,254.50		\$124,068.00
BID SUMMARY										
PAVING ITEMS - HCMUD NO. 477				\$599,939.55		\$678,799.00		\$670,378.75		\$697,732.00
PAVING ITEMS - HCMUD NO. 478				\$977,857.30		\$1,086,358.00		\$1,090,366.75		\$1,115,295.00
MISCELLANEOUS ITEMS				\$95,844.00		\$99,093.00		\$117,254.50		\$124,068.00
TOTAL AMOUNT BASE BID				\$1,673,640.85		\$1,864,250.00		\$1,878,000.00	N 0 400 \ 000 COT	\$1,937,09§ለባ -138 LJA Engineering, In

O:\LAND\2542\2492\032625_Jubilee Section 10 Paving_BT

Page 4 of 7

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477
CITY OF HOUSTON, HARRIS COUNTY, TEXAS
MARCH 26, 2025
UA ENGINEERING, INC.
E. MURPHY
MARCH 27, 2025

2542-2492 (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

				5) PRECISE	SERVICES INC.	'	6) ELITE CONSTRUCTION AND ENGINEERING SERVICES, LLC		RPORATION
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	ITEMS - HCMUD NO. 477 ROADWAY AND LOT EXCAVATION, INCLUDES STRIPPING, STOCKPILING AND RE-APPLICATION OF STRIPPINGS TO APPLICABLE AREAS, COMPLETE IN PLACE	CY	2799	\$3.00	\$8,397.00	\$5.00	\$13,995.00	\$10.90	\$30,509.10
2	ROADWAY AND LOT EXCAVATION TO BE USED FOR FILL TO FINAL GRADE WITHIN THE PROJECT LIMITS, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	СҮ	2799	\$3.00	\$8,397.00	\$4.00	\$11,196.00	\$12.45	\$34,847.55
3	$6\ensuremath{^{\circ}}$ Reinforced concrete pavement, minimum 3,000 psi compressive strength, complete in place	SY	9930	\$51.00	\$506,430.00	\$50.00	\$496,500.00	\$53.80	\$534,234.00
4	6" LIME/FLY ASH STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	11287	\$4.20	\$47,405.40	\$4.00	\$45,148.00	\$6.10	\$68,850.70
5	HYDRATED LIME FOR 6" STABILIZED SUBGRADE PREPARATION, 3% BY DRY WEIGHT, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	91	\$345.00	\$31,395.00	\$400.00	\$36,400.00	\$340.00	\$30,940.00
6	FLY ASH FOR 6" STABILIZED SUBGRADE PREPARATION, 7% BY DRY WEIGHT, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	213	\$135.00	\$28,755.00	\$150.00	\$31,950.00	\$240.00	\$51,120.00
7.	4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	5332	\$4.25	\$22,661.00	\$4.00	\$21,328.00	\$3.75	\$19,995.00
8	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	833	\$4.25	\$3,540.25	\$4.50	\$3,748.50	\$3.50	\$2,915.50
9.	NON-STANDARD TYPE 7 WHEELCHAIR RAMPS, AS PER EXHIBIT "A", INCLUDES BRICK PAVERS, KEYSTONE CITYSCAPES ADA 4"X8" 60MM THICK ADA-COMPLIANT TRUNCATED DOMES, (CHARCOAL COLOR AS DETERMINED BY DEVELOPER), COMPLETE IN PLACE	EA	10	\$2,100.00	\$21,000.00	\$2,500.00	\$25,000.00	\$1,250.00	\$12,500.00
10	4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE	EA	9	\$17.50	\$157.50	\$14.00	\$126.00	\$15.00	\$135.00
11	6" PVC IRRIGATION SLEEVE, SCHEDULE 40, PER PLANS, COMPLETE IN PLACE	LF	210	\$42.75	\$8,977.50	\$52.00	\$10,920.00	\$31.50	\$6,615.00
SUBTOT	AL PAVING ITEMS - HCMUD NO. 477				\$687,115.65	-	\$696,311.50	_	\$792,661.85
	ITEMS - HCMUD NO. 478 ROADWAY AND LOT EXCAVATION, INCLUDES STRIPPING, STOCKPILING AND RE-APPLICATION OF STRIPPINGS TO APPLICABLE AREAS, COMPLETE IN PLACE	СУ	3841	\$3.00	\$11,523.00	\$8.00	\$30,728.00	\$8.65	\$33,224.65
2	ROADWAY AND LOT EXCAVATION TO BE USED FOR FILL TO FINAL GRADE WITHIN THE PROJECT LIMITS, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	3841	\$3.00	\$11,523.00	\$5.00	\$19,205.00	\$10.15	\$38,986.15
3	$7^{\rm u}$ reinforced concrete pavement, minimum 3,000 PSI compressive strength, complete in place	SY	8957	\$59.80	\$535,628.60	\$58.50	\$523,984.50	\$58.25	\$521,745.25
4	6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	5805	\$51.00	\$296,055.00	\$50.00	\$290,250.00	\$53.75	\$312,018.75

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477 CITY OF HOUSTON, HARRIS COUNTY, TEXAS MARCH 26, 2025 LIA ENGINEERING, INC. E. MURPHY MARCH 27, 2025 2542-2492 (9.2)

				5) PRECISE	SERVICES INC.	6) ELITE CONSTRUCTION AND ENGINEERING SERVICES, LLC		7) RESHA CO	RPORATION
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
5.	8" LIME/FLY ASH STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	9779	\$5.60	\$54,762.40	\$5.00	\$48,895.00	\$7.40	\$72,364.60
6.	6" LIME/FLY ASH STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	6565	\$4.20	\$27,573.00	\$4.00	\$26,260.00	\$7.60	\$49,894.00
7.	HYDRATED LIME FOR STABILIZED SUBGRADE PREPARATION, 3% BY DRY WEIGHT, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	159	\$345.00	\$54,855.00	\$400.00	\$63,600.00	\$340.00	\$54,060.00
8.	FLY ASH FOR STABILIZED SUBGRADE PREPARATION, 7% BY DRY WEIGHT, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	371	\$135.00	\$50,085.00	\$150.00	\$55,650.00	\$240.00	\$89,040.00
9.	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	7096	\$4.25	\$30,158.00	\$4.50	\$31,932.00	\$3.50	\$24,836.00
10.	NON-STANDARD MODIFIED TYPE 7 WHEELCHAIR RAMPS, 6' WIDE B-B, AS PER EXHIBIT "A", INCLUDES MODIFIED 6' WIDE LANDING, INCLUDES BRICK PAVERS, KEYSTONE CITYSCAPES ADA 4"X8" 60MM THICK ADA-COMPLIANT TRUNCATED DOMES, (FEDERAL YELLOW COLOR AS DETERMINED BY DEVELOPER), COMPLETE IN PLACE	EA	8	\$2,100.00	\$16,800.00	\$2,500.00	\$20,000.00	\$1,350.00	\$10,800.00
11.	NON-STANDARD MODIFIED TYPE 7 WHEELCHAIR RAMPS, 8' WIDE B-B, AS PER EXHIBIT "A", INCLUDES MODIFIED 8' WIDE LANDING, INCLUDES BRICK PAVERS, KEYSTONE CITYSCAPES ADA 4"X8" 60MM THICK ADA-COMPLIANT TRUNCATED DOMES, (FEDERAL YELLOW COLOR AS DETERMINED BY DEVELOPER), COMPLETE IN PLACE	EA	4	\$2,950.00	\$11,800.00	\$2,500.00	\$10,000.00	\$1,450.00	\$5,800.00
12.	TYPE III BARRICADE, COMPLETE IN PLACE	EA	6	\$1,550.00	\$9,300.00	\$1,250.00	\$7,500.00	\$1,000.00	\$6,000.00
13.	REMOVE AND OFFSITE DISPOSAL OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$100.00	\$100.00	\$200.00	\$200.00	\$200.00	\$200.00
14.	REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE	LF	194	\$16.50	\$3,201.00	\$10.00	\$1,940.00	\$2.00	\$388.00
15.	4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE	EA	5	\$17.50	\$87.50	\$12.00	\$60.00	\$15.00	\$75.00
16.	$6"$ PVC IRRIGATION SLEEVE, SCHEDULE 40, PER PLANS, COMPLETE IN PLACE $^{\circ}$	LF	638	\$42.75	\$27,274.50	\$45.00	\$28,710.00	\$31.50	\$20,097.00
SUBTOT	AL PAVING ITEMS - HCMUD NO. 478				\$1,140,726.00	_	\$1,158,914.50	_	\$1,239,529.40
	ANEOUS ITEMS EXTRA 4" STRIPING, ALL COLORS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$20.00	\$2,000.00	\$1.00	\$100.00
2.	EXTRA RAISED PAVEMENT MARKER, ALL COLORS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	50	\$8.00	\$400.00	\$10.00	\$500.00	\$2.00	\$100.00
3.	EXTRA CEMENT STABILIZED SAND BACKFILL, (2 SACKS PER CY), (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	СУ	100	\$20.00	\$2,000.00	\$55.00	\$5,500.00	\$20.00	\$2,000.00
4.	EXTRA STREET AND TRAFFIC SIGNS, DETAILS AS PER EXHIBIT "A", INCLUDES NON-STANDARD SIGNAGE AND POLES, ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, AND TRAFFIC SIGNS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LS	1	\$975.00	\$975.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 477
CITY OF HOUSTON, HARRIS COUNTY, TEXAS
MARCH 26, 2025
UA ENGINEERING, INC.
E. MURPHY
MARCH 27, 2025

2542-2492 (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

			5) PRECISE SERVICES INC. 6)		6) ELITE CONSTRUCTION AND ENGINEERING SERVICES, LLC		7) RESHA COR	PORATION
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
 BROADCAST SEEDING, INCLUDES FERTILIZING AND WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE 	AC	18	\$1,200.00	\$21,600.00	\$1,250.00	\$22,500.00	\$650.00	\$11,700.00
 HYDROMULCH SEEDING AND FINE GRADING, INCLUDES WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE 	AC	9	\$2,400.00	\$21,600.00	\$2,500.00	\$22,500.00	\$1,000.00	\$9,000.00
 INSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, AND REGRADE AREA TO MATCH FINISHED GRADE, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE 	LS	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00
8. STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, INCLUDES GENERAL SOURCE CONTROLS, STREET SWEEPING, CONCRETE WASHOUT, AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BIE PROPOSAL, COMPLETE IN PLACE	LS	1	\$2,000.00	\$2,000.00	\$4,000.00	\$4,000.00	\$33,640.50	\$33,640.50
EXTRA REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	100	\$2.00	\$200.00	\$2.50	\$250.00	\$1.00	\$100.00
10. EXTRA INLET PROTECTION BARRIER FOR STAGE I INLET, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	1	\$125.00	\$125.00	\$75.00	\$75.00	\$150.00	\$150.00
11. PERMANENT TRAFFIC CONTROL DEVICES, DETAILS AS PER EXHIBIT "A", INCLUDES NON-STANDARD SIGNAGE AND POLES, ALL TRAFFIC BUTTONS, WHITE CONTINENTAL STRIPING AT ONE LOCATION, PAVEMENT STRIPING, STREET SIGNS, AND TRAFFIC SIGNS, COMPLETE IN PLACE	LS	1	\$34,000.00	\$34,000.00	\$28,031.00	\$28,031.00	\$10,000.00	\$10,000.00
12. TEMPORARY TRAFFIC CONTROL DEVICES AS NEEDED FOR THE DURATION OF THE PROJECT, (FLAGGERS, CONES, ETC.), PER TMUTCD, INCLUDES INSTALLATION, MAINTENANCE, AND REMOVAL, COMPLETE IN PLACE	LS	1	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$38,640.50	\$38,640.50
 SURFACE WATER CONTROL AND PUMPING, INCLUDES ALL PUMPING TO COMPLETE PROJECT, COMPLETE IN PLACE 	LS	1	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00	\$10,000.00	\$10,000.00
14. FINAL LOT GRADING, COMPLETE IN PLACE	LS	1	\$17,500.00	\$17,500.00	\$20,000.00	\$20,000.00	\$30,640.50	\$30,640.50
15. CONSTRUCTION STAKING FOR PAVING CONSTRUCTION BY THE CONTRACTOR PER KYLE KACAL, GBI SURVEYING, CONTACT 281-499-4539 FOR PRICING, COMPLETE IN PLACE	LS	1	\$10,418.00	\$10,418.00	\$10,418.00	\$10,418.00	\$10,418.00	\$10,418.00
16. AS BUILT SURVEY OF ALL PAVEMENT HIGH POINTS, LOW POINTS AND LOT CORNERS (98 LOTS TOTAL), AS PERFORMED BY KYLE KACAL, GBI SURVEYING, CONTACT 281-499-4539 FOR PRICING, INCLUDES AN EXHIBIT CERTIFIED BY A REGISTERED PROFESSIONAL LAND SURVEYOR IN THE STATE OF TEXAS, AS WELL AS AN AUTOCAD FILE OF SURVEY, COMPLETE IN PLACE	LS	1	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00
SUBTOTAL MISCELLANEOUS ITEMS			-	\$124,418.00	_	\$134,774.00		\$173,989.50
BID SUMMARY								
PAVING ITEMS - HCMUD NO. 477				\$687,115.65		\$696,311.50		\$792,661.85
PAVING ITEMS - HCMUD NO. 478				\$1,140,726.00		\$1,158,914.50		\$1,239,529.40
MISCELLANEOUS ITEMS				\$124,418.00		\$134,774.00		\$173,989.50
TOTAL AMOUNT BASE BID				\$1,952,259.65		\$1,990,000.00		\$2,206,180.75

FRN F-1386 LJA Engineering, Inc.